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Yaw Skid Marks
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This type of skid mark allows for the investigator to determine an absolute speed or actual speed of the vehicle while in the skid. An investigator will use the following steps in determining the actual speed of the vehicle.

1. Measure a chord (C) of the arching pattern of the skid mark. This is usually done in an even number of feet (i.e. 20 ft, 68 ft, etc).

2. Then the officer divides the chord by 2 and measures the middle ordinate (M). The middle ordinate is measured from the middle of the chord to the arc of the skid mark.
3. Also, the officer will need to determine the drag factor (f) for the road in the given conditions. This can be done with a drag sled or creating a set of test skid marks.
Drag Factor
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-Test skid speed
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-Pulling force of the scale



-Weight of the drag sled

Radius
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-Chord



-Middle of ordinate

Sideslip or Yaw
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-Radius of path of the Center of Mass (COM) of the vehicle



-Drag Factor

1. An investigator comes to an accident scene and sees that the crashed car has left a curved skid mark.  The officer measures the chord to be 500, then measures the middle ordinate to be 210. The investigator created sets of skid marks to determine the drag factor of 0.87. 
a. Determine the radius of the curve.

b. Determine the speed of the vehicle. 

R = 


S = 

2. An officer uses a 24 lb drag sled to measure the drag factor of the road at an accident. The pulling force used to move the sled is 22.25 lbs. Then she measures the skid and has a chord of 320, and a middle ordinate of 37 . 
a. Determine the drag factor.
b. Determine the radius of the curve.

c. Determine the speed of the vehicle. 


f = 


R = 


S = 

3. An accident is being investigated and the officers lay four sets of skid marks to obtain a drag factor. The average distances for the skids were 462 at 30 mph, 821 at 40 mph, 1847 at 60 mph, and 2512 at 70 mph. They also measure a chord of 1660 and a middle ordinate of 43. 
a. Determine the average drag factor. (if any of the values are drastically different, throw it out as bad data)
b. Determine the radius of the curve.

c. Determine the speed of the vehicle. 

favg = 


R = 


S = 

C = Chord





M = Middle ordinate
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